1. Поиск подстроки в строке с помощью префикс-функции
uses SysUtils;

type mas=array[0..1000]of integer;

var s,t:string;

    a:mas;

    i:integer;

procedure prefix_function (s:string;var p:mas);

var n,i,k:integer;

begin

  n:=length(s);

  a[1]:=0;
  k:=0;
  for i:=2 to n do

    begin;

    while (s[i]<>s[k+1]) and (k>0) do k:=p[k];

    if s[i]=s[k+1] then inc(k);

    p[i]:=k;

    end;
end;

begin

  reset(input,'substr.in');

  rewrite(output,'substr.out');

  readln(s);

  readln(t);

  prefix_function(s+'#'+t,a);

  for i:=1 to length(s)+length(t)+1 do

    if(a[i]=length(s))then write(i-length(s)-1-length(s)+1,' ');

  close(input);

  close(output);

end.
2. Z-функция
var s:string; z:array[0..1000] of integer;

    i,l,r,k,n:integer;
begin

readln(s);

n:=length(s);

s:=s+'#';

l:=0;

r:=0;

for i:=2 to n do

  begin;

  k:=0;

  if i<r then k:=min(z[i-l+1],r-i);

  while s[i+k]=s[k+1] do inc(k);

  if i+k>r then

    begin

    l:=i;

    r:=i+k;

    end;

  z[i]:=k;

  end;
end.
1. Поиск подстроки в строке с помощью префикс-функции
#include<iostream>

#include<string>

#include<vector>

using namespace std;

vector<int> prefix_function (string s) { 

  int n = (int) s.length(); 

  vector<int> pi (n); 

  for (int i=1; i<n; ++i) { 


  int j = pi[i-1]; 


  while (j > 0 && s[i] != s[j]) 



  j = pi[j-1]; 


  if (s[i] == s[j]) ++j; 


  pi[i] = j; 

  } 

  return pi; 

} 

int main(){


freopen("substr.in","r",stdin);


freopen("substr.out","w",stdout);


string s,t;


getline(cin,s);


getline(cin,t);


vector<int> a=prefix_function(s+"#"+t);


int l=s.size();


for(int i=0;i<a.size();i++)



if (a[i]==l)cout << i-l-l+1 << " ";


return 0;

}
2. Z-функция
void z_fun(string s, vector<int> &z){ 


int len=s.size(); 


  z.resize(len); 


  z[0]=0; 


  int l=0, r=0; 


  for(int i=1; i<len; i++) 



  if (i>r){ 




  int j; 




  for (j=0;i+j<len && s[i+j]==s[j];j++);




  z[i]=j;l=i;r=i+j-1; 



  } 



  else if (z[i-l]<r-i+1)z[i]=z[i-l]; 



  else{ 




  int j; 




  for (j=1;r+j<len && s[r+j]==s[r-i+j];j++); 




  z[i]=r-i+j;l=i;r=r+j-1; 



  } 

}

